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^mJ ^mfm ( àíZ, JwU) I 20 40 : 

Imbrb CVmam dmMm. Ë`mda AmYm[aV àým§Mr CÎmao {Xboë`m n`m©̀ mVyZ {ZdS>m :
{edmOramd gmd§Vm§Mm _¥Ë ẁO§̀  H$ma Agm C„oI àW_ AmMm ©̀ AÌo `m§Zr Ho$bm. gm{hË` OJVmV gd©OU Ë`m§Zm amOo åhUV. _¥Ë ẁO§̀
hr H$Um©À`m OrdZmdarb H$mX§~ar Ë`m§Zr d`mÀ`m 23 ì`m dfu {b{hbr d {VMo àH$meZ 1967 gmbr J.{X. _mS>JwiH$am§À`m hñVo
Pmbo. ~KVm-~KVm _¥Ë ẁ§O` bmoH$m§Zr CMbyZ Yabr. VrZ hOmam§Mr n{hbr Amd¥Îmr Ad¿`m gmS>oVrZ _{hÝ`m§V g§nbr. `m H$mX§~arda
dmMH$m§À`m Ajaj: CS>çm nS>m`bm bmJë`m.
_¥Ë ẁ§O`Mo qhXr, B§p½be, H$ÞS>, JwOamVr, C{‹S>`m B. Xhm ^mfm§V énm§Va Pmb§ hmoV§. 1990 gmbr _¥Ë ẁ§O` H$mX§~arMo H$bH$Ë`mhÿZ
Zmo~ob nwañH$mamgmR>r Zm_m§H$Z Pmbo hmoVo. 1995 gmbr _¥Ë ẁ§O` bm ^maVr` kmZnrR>mMm _yVuXodr nwañH$ma bm^bm. AZoH$ àm§{VH$
g§_obZmMr AÜ`jnX Ë`m§Zr ^yfdbr.

à. 1 _¥Ë ẁ§O` H$mX§~ar {H$Vr gmbr àH$m{eV Pmbr?
1) 1960 2) 1965 3) 1967 4) 1970

à. 2 n{hë`m Amd¥ÎmrV {H$Vr nwñVHo$ hmoVr?
1) EH$ hOma 2) VrZ hOma 3) nmMeo 4) nmM hOma

à. 3 _¥Ë ẁ§O` Mo {H$Vr ^mî`m§_Ü ò ê$nm§Va Pmb§ hmoV§?
1) XmoZ 2) Xhm 3) nmM 4) ghm

Imbrb nÚ dmMyZ Ë`mda AmYm[aV nûZm§À`m CÎmamgmR>r `mo½` n`m©̀  {ZdS>m :
_mÂ`m _amR>r _mVrMm, bmdm bbmQ>mg {Q>im;
{hÀ`m g§JmZo OmJë`m, Xè`mImoè`m§Vrb {eim.
{hÀ`m IwerV OÝ_bo, H$mio H$UIa hmV;
Á`m§À`m XwX©_ YramZo, Ho$br _¥Ë ỳdar _mV.

H$dr - {d. dm {eadmS>H$a

à. 4 H$moUË`m ^mfoMm {Q>im bmdÊ`mg H$dr gm§JV Amho?
1) _m`^mfm 2) _amR>r 3) qhXr 4) Vm{_i

à. 5 H$UIa `m eãXmMm AW© H$m`?
1) VmH$XdmZ 2) Xw~io 3) boMonoMo 4) _D$

Imbrb g§dmX dmMm. Ë`mda AmYm[aV nûZm§À`m CÎmamgmR>r `mo½` n`m©̀  {ZdS>m.
ggm : H$mgdXmXm, AmÎmmnmgyZ Amnbr e ©̀V gwê$
H$mgd : R>rH$ Amho Va!
ggm : Vwê$Vwê$ Mmbbmo _r Vwê$Vwê$

  Mwê$Mwê$ ImVmo _r Mwê$Mwê$
  H$modio bwgbwerV JdV ho
  ImVmZm dmQ>Vmò  _Om ^mar.

H$mgd : Z§Va dmQ>ob Vwbm nümVmn ^mar
  qOHo$Z _r O|ìhm e ©̀V IarIwar

à. 6 e ©̀V H$moUm_Ü ò gwê$ Pmbr?
1) ggm d harU 2) Ima d {M_Ur 3) ggm d H$mgd 4) H$moëhm d H$~yVa
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à. 7 gembm H$go JdV Im`bm {_imbo?

1) IwgIwerV 2) bwgbwerV 3) _D$_D$ 4) {hadoJma

Imbrb àûZm§Mr CÎmao `mo½` n`m©̀ mVyZ {ZdS>m.
à. 8 amOm-amUr Vgo gmoZma - ?

1) Xm{JZm 2) gmoZr 3) gmoZmarU 4) gmoZmar

à. 9 Iao ×  ImoQ>o Vgo BÀN>m ×  ......
1) g{XÀN>m 2) A{ZÀN>m 3) A{^bmfm 4) H$m_Zm

à. 10 na_oœa `m eãXmVrb g§Yr AmoiIm.
1) ñdag§Yr 2) ì §̀OZg§Yr 3) {dgJ©g§Yr 4) H$moUVrM Zmhr

à. 11 H¥$VkVm `m eãXmVyZ H$m` ^mdZm g_OVo?
1) CnH$mamMr naV\o$S> 2) AnH$mamMr naV\o$S> 3) namonH$ma 4) X`miynUm

à. 12 ^r_m ZXr n§T>anyabm Joë`mda H$moUË`m ZmdmZo AmoiIbr OmVo?
1) H¥$îUm 2) H$mò Zm 3) M§Ð^mJm 4) H$mdoar

à. 13 ^r_me§H$a òWo AmT>iUmam _w»` àmUr H$moUVm?
1) Ima 2) eoH$ê$ 3) Kw~S> 4) H$moëhm

à. 14 ñdm_r {VÝhr OJmMm -------- {^H$mar `m AmoirV `mo½` eãX H$moUVm?
1) n¡em{dZm 2) H$nS>çm{dZm 3) Kam{dZm 4) AmB©{dZm

à. 15 H$dr H¥$îUmOr Ho$ed Xm_bo `m§Mo Q>monUZmd H$m` hmoVo?
1) Ho$edHw$_ma 2) Ho$edgwV 3) Hw$gw_mJ«O 4) Jm|{dXmJ«O

à. 16 Imbrb eãXmVyZ H$moUVm OmoS>eãX Zmhr Vo AmoiIm.
1) neynjr 2) Ho$aH$Mam 3) gm§S>nmUr 4) eoVrdmS>r

à. 17 {ZYm©a eãXmMm AW© H$m`?
1) {Zü` 2) Yma Zgbobm 3) hoH$m 4) hÅ>

à. 18 nwñVH$ - nwñVHo$ Vgo ZXr ----------.
1) g_wÐ 2) Y~Y~m 3) ZÚm 4) Pam

à. 19 W¸$ hmoUo åhUOo H$m`?
1) AmíM ©̀ dmQ>Uo 2) ~ao hmoUo 3) AmZ§X dmQ>Uo 4) ZmIwe hmoUo

à. 20 AdH$memVrb dñVybm H$moUVr AdñWm àmá hmoVo?
1) KZ 2) Ðd 3) dm ỳ 4) dOZa{hV

H$ƒo {bImU H$aÊ`mgmR>r _moH$ir OmJm
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Section II : Maths (30 Questions, 60 Marks)

Q. 21 452 + 602 = x2. Find x
1) 5625 2) 105 3) 75 4) 11025

Q. 22 All vertices of a quadrilateral lie on the circle. Diagonals of this quadrilateral are congruents
and perpendicular to each other. Which type of quadrilateral is this?
1) Rhombus 2) Rectangle 3) Square 4) Trapezium

Q. 23
91  = ?

16

1) 
31
4 2) 

11
4 3) 

3
4 4) 

3
5

Q. 24 Find fctors of m4 - n4

1) (m - n) (m3 + n3) 2) (m - n)(m - n)3

3) (m2 + n2) (m + n)2 4) (m - n)(m + n)(m2 + n2)

Q. 25 Which of the following number does not lie between 
1
3  and 

1
4 .

1) 
3

10 2) 
4

15 3) 
3
8 4) 

7
24

Q. 26 1st January 2000 was Friday. In which of the earlier years 1st January would again be Fri-
day?
1) 2006 2) 2005 3) 2007 4) 2010

Q. 27 Which of the following is definitely true?
1) Medians of a triangle are angle bisectors.
2) In a triangle, perpendicular drawn from the vertex to its base is called perpendicular bisector.
3) All altitudes of any triangle are concurrent.
4) Perpendicular bisectors of a triangle are angle bisectors.

Q. 28 Median of an equilateral triangle 6.3 cm. Find the radius of it’s circumcircle.
1) 6.3 cm 2) 2.1 cm 3) 4.2 cm 4) 6 cm

Q. 29 The cost price of 12 articles is the same as the selling price of 8 articles. What is the profit
percent?
1) 50% 2) 40% 3) 60% 4) 25%

Q. 30 7 ÷ 77×7777077 = ?
1) 77007 2) 7707 3) 707007 4) 70000

Space for Rough Work
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Q. 31 If 
1
3  is written as 0.3. What is the numerical percentage error?

1) 3% 2) 
1
3 % 3) 

1
10 % 4) 10%

Q. 32 The average of six numbers is 23. The average of five numbers of them is 24. Find the sixth
numbers.
1) 14 2) 6 3) 18 4) 20

Q. 33 A certain sum of money amounts to Rs. 2500 in 5 years and further to Rs. 3000 in a span of 7
years at simple interest. How much is the sum?
1) Rs. 2000 2) Rs. 1250 3) Rs. 1500 4) Rs. 1000

Q. 34 15% of A = 10% of B = 20% of C = 30% of D. Which of the following is the greatest?
1) A 2) B 3) C 4) D

Q. 35 25 : 55 = ?
1) 2 : 5 2) 5 : 2 3) 125 : 32 4) 32 : 25

Q. 36 If the length of a rectangle is (2x + 5y) and breadth is (3x - 2y). Find area of that rectangle.
1) 6x2 - 10y2 2) 4xy + 6x2 3) 6x2 + 11xy - 10y2 4) 6x2 - 11xy - 10y2

Q. 37 Find ratio a : c if a : b = 2 : 3 and b : c = 5 : 6
1) 5 : 9 2) 5 : 11 3) 7 : 9 4) 1 : 3

Q. 38 Which of the following is not the perfect square?

1) 2
2

1x  +  - 2
x 2) 2m  + 8m + 16 3) 2 24a  - 36ab + 9b 4) 2 24a  - 12ab + 9b

Q. 39 300 m. long train crosses an electric pole in 24 seconds. Find the time taken by the train to
cross the bridge which is 450 m long.
1) 36 sec. 2) 1 min 3) 30 sec. 4) 48 sec.

Q. 40 How many times one has to press the number keys to type the numbers 1 to 160?
1) 372 2) 370 3) 160 4) 360

Q. 41 If 786× 1245 = 978570 then 97.8570 ÷ 0.786 = ?
1) 1.245× 102 2) 12450× 10-2 3) 0.001245× 105 4) All are correct

Q. 42 Ratio of measures of supplementary and complementary angles of a given angle is 5 : 2. find
ratio of the measures of supplementary angle to the given angle.
1) 5 : 1 2) 1 : 5 3) 5 : 3 4) 5 : 2

Space for Rough Work
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Q. 43 Five years ago, sum of ages of mother and her daughter was 52 years. Today, mother’s age is 6

years less than thrice the age of her daughter. Find mothers age as on today.
1) 45 years 2) 17 years 3) 52 years 4) 12 years

Q. 44 ΔABC  is an equilateral triangle inscribed in the given circle. find  [m AOB + m BOC] .

A B

O

C
1) 1200 2) 600 3) 2400 4) 3600

Q. 45 Radha finishes stitching work in 20 days. If Sonali works two and half times more than her, in
how many days Sonali would finish the same work?
1) 8 days 2) 5 days 3) 10 days 4) 50 days

Q. 46 Diagonals of rhombus are 10cm and 24 cm. Find its perimeter?
1) 52cm 2) 68 cm 3) 34 cm 4) None of these

Q. 47
2 2(3.7) - (4.3)  = ?

(3.7 - 4.3)
1) -8 2) 8 3) -0.6 4) -1

Q. 48 Find the area of a square whose side is equal to the diagonal of another square having side
8 cm.
1) 64 sq cm 2) 128 sq cm 3) 64 2 cm 4) 128 2  cm

Q. 49 A student gets 50 marks and he fails by 50 marks. If the passing percentage is 50. What would
be the total marks in the examination?
1) 100 2) 200 3) 300 4) 400

Q. 50 If 
43x - 2y =
5  Find 15x - 10y = ?

1) 20 2) 12 3) 4 4) 25

Space for Rough Work



Specially Designed for Jr. Newton Talent Search Exam - 2012. www.JrNewtonExams.com
CONFIDENTIAL© copyright 2012 Brilliant Publication, Pune.  : 9370223572 / 020-64010923

6Std. : Seventh [Semi English]

Section III : Science (30 Questions, 60 Marks)

Q. 51 ---------- is observed as Akshayya Urja Din.
1) 22nd August 2) 20th August 3) 25th September 4) 22nd September

Q. 52 Full form of CNG is --------
1) Combined natural gas 2) Condensed natural gas
3) Compressed natural gas 4) Carbon-Nitrogen gas

Q. 53 Colocasia leaves contains --------- crystals
1) Calcium Sulphate 2) Calcium Nitrate 3) Calcium phosphate 4) Calcium Oxalate

Q. 54 -------- blood group is universal receiver.
1) A 2) AB 3) B 4) O

Q. 55 Chemical formula for sugar is ------------.
1) C22H12O11 2) C11H22O12 3) C11H12O22 4) C12H22O11

Q. 56 Which disorder is related to lack of calcium?
1) Stunted growth 2) anaemia 3) brittle bones 4) goitre

Q. 57 Find odd man out :
1) NaHCO3 2) NaOH 3) NH4OH 4) CH3COOH

Q. 58 The density of water is maximum at ----------
1) 20C 2) 40C 3) 60C 4) 80C

Q. 59 The charge on an ebonite rod is ------------.
1) positive 2) negative 3) neutral 4) none of these.

Q. 60 What is the speed of sound in air?
1) 340 m/s 2) 360 m/s 3) 380 m/s 4) 400 m/s

Q. 61 What is the audible range heard by human ears?
1) 20 to 200 Hz 2) 20 to 2000Hz 3) 20 to 20000Hz 4) None of these

Q. 62 Dark shadow is called ---------.
1) Umbra 2) Penumbra 3) extended shadow 4) None of these

Q. 63 In rainbow which colour is on the top?
1) violet 2) red 3) green 4) indigo

Q. 64 World water day is celebrated on ---------.
1) 20 August 2) 22 August 3) 20 March 4) 22 March

Space for Rough Work
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Q. 65 Which is the acid in tamarind?

1) Lactic acid 2) Tartaric acid 3) Citric acid 4) None of these

Q. 66 What is the symbol for cadmium?
1) Cm 2) Co 3) Cd 4) Cr

Q. 67 Which element has molecules with two atoms each?
1) Nitrogen 2) Helium 3) Calcium 4) None of these

Q. 68 Which substance can be used in a thermometer in place of mercury?
1) Alcohol 2) Salt 3) Benzene 4) Acid

Q. 69 Which disease is digonosed if sugar is found in urine?
1) Malaria 2) diabetes 3) cholera 4) typhoid

Q. 70 --------- is a universal sovent?
1) alcohol 2) phenyl 3) water 4) acid

Q. 71 Fins the odd man out :
1) NaCl 2) C12H22O11 3) KCl 4) CuSO4

Q. 72 Which food item contains plenty of iron?
1) bajra 2) corn 3) dal 4) jaggery

Q. 73 A lightening conductor is made of ------------.
1) Silver 2) Copper 3) Aluminium 4) Brass

Q. 74 Unit of frequency is --------.
1) metre 2) second 3) Hertz 4) None of these

Q. 75 Molecular formula of potassium permangante is ---------.
1) K2Cr2O4 2) KMnO3 3) K2MnO4 4) KMnO4

Q .76 Which is a viviparous animal?
1) Cat 2) hen 3) snake 4) None of these

Q. 77 Which acid is used as a preservative?
1) sulphuric acid 2) hydrochloric acid 3) lactic acid 4) benzoic acid

Q. 78 Symbol for tungsten is ----------.
1) to 2) tn 3) W 4) Wm

Q. 79 Which is bad conductor of heat?
1) plastic 2) copper 3) iron 4) brats

Q. 80 Deficiency of phosphorus causes ---------.
1) stunted growth 2) scurvy 3) Rickets 4) goitre

Space for Rough Work
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^mJ ~wX²{Y_Îmm MmMUr ( àíZ, JwU) IV 20 40 : 

à. 81 {dOmoS> nX AmoiIm.
(1) qgh-Jwhm (2) _w§½`m dmê$i (3) _|T>r -H$in (4) nµjr-KaQ>o

à. 82 _m{bHo$Vrb nwT>rb g§»`m AmoiIm
7,9,12,17,23,34,?
(1) 47 (2) 45 (3) 46 (4) 48

à. 83 Once upon a time in a village, there lived six blind men. øm dmŠ`mV {H$Vr 4 Ajar eãX AmhoV?
(1) 4 (2) 6 (3) 5 (4) 3

à. 84 àý{MÝhmÀ`m OmJr òUmar g§»`m AmoiIm.

81
12

108
,

64
13

104
,

225
?

165

(1) 11 (2) 6 (3) 8 (4) 12

à. 85 Oa 2008 gmbr ñdV§ÌVm {Xdg _§Jidmar gmOam Pmbm Agob. Va òUmè`m H$moUË`m dfu Vmo naV _§Jidmar gmOam
hmoB©b?
(1) 2012 (2) 2016 (3) 2015 (4) 2014

à. 86 ñV, ~, a, O, X hr Ajao OwidyZ EH$ AW©nyU© eãX V`ma Ho$ë`mg eodQy>Z Xwgao Aja H$moUVo?
(1) X (2) Z (3) ~ (4) a

à. 87 EH$m gm§Ho${VH$ ^mfoV Bring me an apple Mm AW© 2456 Agm Amho. peel green apple Mm g§Ho$Vm§H$ 3658
‘Bring a green fruit Mm g§Ho$Vm§H$  3749 Agm Amho, Va green øm eãXmgmR>r Imbrbn¡H$s H$moUVm g§Ho$V eãX
Amho.
(1) 2 (2) 4 (3) 5 (4) 3

à. 88 {dOmoS> nX AmoiIm
(1) 682 (2) 791 (3) 374 (4) 165

à. 89 {OV|ÐZo Ë`mÀ`m {_Ìmbm gm§{JVbo H$s Ë`mMr OÝ_VmarI 1 OmZodmar d 4 OmZodmar À`m _Yo Amho. Ë`mÀ`m AmB©Zo
gm§{JVbo H$s, {OV|ÐMm OÝ_ 2 OmZodmar Z§Va Ambm. `mdê$Z {OV|ÐMr OÝ_VmarI H$moUVr?
(1) 2 OmZodmar (2) 3 OmZodmar (3) 4 OmZodmar (4) _mhrVr AnyU© Amho.

H$ƒo {bImU H$aÊ`mgmR>r _moH$ir OmJm
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à. 90 g_mZ nX AmoiIm

1) 2) 3) 4) 

à. 91 àý AmH¥$VrMo nmÊ`mVrb à{Vq~~ AmoiIm

(1) (2) (3) (4) 

à. 92 {Xboë`m JQ>mV Z ~gUmao nX AmoiIm.
X,V,C,M
(1) D (2) L (3) N (4) I

à. 93 R>moH$ù`m§Mr EHy$U g§»`m {H$Vr?

(1) 12 (2) 13 (3) 10 (4) 9

H$ƒo {bImU H$aÊ`mgmR>r _moH$ir OmJm
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à. 94 àý AmH¥$VrMr AmaemVrb à{V_m AmoiIm .

(1) (2) (3) (4) 

à. 95 Oa CD = 7, TV = 42, DVD = 30 Agob Va VCR = ?
(1) 30 (2) 37 (3) 23 (4) 43

à. 96 EH$m _wbm§À`m am§JoV Vwfma nwTw>Z 14 ì`m ñWmZmda C^m Amho Ë`mM am§JoV gmJa _mJyZ  ì`m 16 ñWmZmda C^m Amho, Oa Ë`m
XmoKm§À`m _Yo 7 _wbo C^r AgVrb Va Ë`m am§JoV EHw$U _wbo {H$Vr?
(1) 37 (2) 36 (3)  35 (4) 34

à. 97 Oa 31 : 19 Va 23 bm H$m`?
(1) 94 (2) 49 (3) 47 (4) 19

à. 98 Oa EH$ KS>çmi Xa Vmgmbm d AÜ`m©Vmgmbm EH$ Q>mob XoV Agob Va gH$mir 11 dmOë`mnmgyZ Xwnmar 4 dmOon ª̀V {H$Vr
doim Q>mobo XoB©b?
(1) 14 doim (2) 11doim (3) 10 doim (4) 16 doim

à. 99 gw{ZVm gẁ m}X` ~KyZ Pmë`m~a S>mdrH$Sy>Z 900 A§emÀ`m H$moZmVyZ dibr. WmoS>o A§Va Joë`mda naV 900 A§emÀ`m
H$moZmVyZ dibr, Va AmVm {VMm S>mdm hmV H$moUË`m {Xeobm Agob?
(1) nwd© (2) npíM_ (3) CÎma (4) X{jU

à.100 9,  2,  3,  5,  4,  3,  9,  8,  1,  6,  8,  1,  7,  4,  6,  5,  7,  5.
{Xboë`m g§»`m _m{bHo$V {H$Vrdoim bJVÀ`m A§H$mMr ~oarO 10 nojm OmñV Amho.
(1) 8 (2) 9 (3) 7 (4) 6

H$ƒo {bImU H$aÊ`mgmR>r _moH$ir OmJm


